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QUESTION 1

After this VI has run 3 times, what value is displayed in the indicators Loop Iterations and Time? 

A. Loop Iterations = 3, Time = Seconds between the 2nd and 3rd time the VI ran. 

B. Loop Iterations = 0, Time = Seconds between the 1st and 3rd time the VI ran. 

C. Loop Iterations = 3, Time = Seconds between the 1st and 3rd time the VI ran. 

D. Loop Iterations = 0, Time = Seconds between the 2nd and 3rd time the VI ran. 

Correct Answer: A 

 

QUESTION 2

How do you document a VI so that the description appears in the Show Context Help popup window? 

A. Use the VI Properties Documentation window 

B. Type in the Show Context Help window 

C. Create a free label on the front panel 

D. Edit the LabVIEW help files 

Correct Answer: A 

 

QUESTION 3
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You can use all of the following data types as inputs to the case selector terminal except: 

A. Doubles 

B. Enumerated type values 

C. Strings 

D. Integers 

Correct Answer: A 

 

QUESTION 4

Which of the following can not be used to transfer data? 

A. Semaphores 

B. Queues 

C. Notifiers 

D. Local variables 

Correct Answer: A 

 

QUESTION 5

This VI is started with a value of 7 in the Repetitions control. 

The SubVI Grind.vi returns an error the fifth time it runs. 

What is the value in the Numeric indicator after this VI has run? 

A. 6 

B. 5 

C. 4 
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D. 7 

Correct Answer: B 

Latest CLAD Dumps CLAD PDF Dumps CLAD Practice Test

Powered by TCPDF (www.tcpdf.org)

Latest CLAD Dumps | CLAD PDF Dumps | CLAD Practice Test                                4 / 4

https://www.geekcert.com/clad.html
https://www.geekcert.com/clad.html
https://www.geekcert.com/clad.html
http://www.tcpdf.org
https://www.geekcert.com/clad.html
https://www.geekcert.com/clad.html
https://www.geekcert.com/clad.html

